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_JALJTAUL-T & Ef 545,084 94.0| 682,106 81.9 79.9 69.6
AER JAL 293,802 889 333445 83.4 88.1 82.6
JTA 208,678 100.6| 292,545 80.6 71.3 57.2
RAC 38,681 103.8 51,700 81.2 74.8 58.6
JAG 3,923 88.3 4,416 74.2 88.8 74.6
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TFIH=3% JAL/JTA 209,873 885 235977 85.6 88.9 86.0
FH=3% JAL 39,354 77.1 47,662 69.5 82.6 74.4
BETE =3B %5 JAL/JTA 18,661 108.6 25,575 83.2 73.0 55.9
=R =3 JTA 40,663 108.9 49,995 81.9 81.3 61.2
FH=RIE JAL/JTA 23,866 89.0 27,738 72.2 86.0 69.8
FH=E& JAL/JTA 12,529 85.4 14,148 82.0 88.6 85.1
FIH=AXE JAL 8,260 81.4 8,250 80.6 81.2 82.8
=R JTA 6,384 93.9 8,415 82.3 75.9 66.4
A== JTA 6,304 91.7 8,250 82.0 76.4 68.3
PE=Hm1i JTA 6,073 121.7 8,745 85.5 69.4 48.8
PE== JTA 6,455 165.8 8,250 80.6 78.2 38.1
PE =3 JTA 28,125 111.0 33,330 81.8 84.4 62.2
L =38 %5 JTA 7,394 101.2 8,580 83.9 86.2 71.4
IMA=FRE JTA 6,445 126.8 8,580 85.2 75.1 50.5
BE=TXKE JAC 936 112.4 1,152 774 81.3 56.0
MHE=5 RAC/JAC 5,255 107.8 5,856 103.0 89.7 85.7
ME=rk BER JAG 2,025 91.7 2,208 74.2 91.7 74.2
RAMRET 428,602 927 502,711 81.9 85.3 75.4
MBHE="0H JTA/RAC 43244 94.6 68,120 80.7 63.5 54.1
REHE=ha1E JTA/RAC 37,782 100.9 59,825 84.9 63.2 53.2
BE=AKE JTA/RAC 15,868 111.6 23,250 87.0 68.2 53.2
BHE=MAKE RAC 2,584 237.1 3,600 2400 71.8 72:7
RE|=JdLKE RAC 967 38.9 1,150 25.6 84.1 55.2
=53 E RAC 2,638 112.1 3,750 815 70.3 51.2
EE=%R[M RAG 3,341 101.9 4,900 80.3 68.2 53.8
mAR=IL KK RAGC 849 87.3 1,200 80.0 70.8 64.9
AiE=53E RAC 4930 99.8 6,250 82.2 78.9 65.0
Ea=haiE RAGC 4279 94.9 7,350 67.1 58.2 41.2
R I#RET 116,482 996 179,395 82.2 64.9 53.6
EHRRRE BT 545,084 940 682,106 820 79.9 69.6
TEHBREE 0 0.0 0 0.0 - 80.6
SRS & 545,084 940 682,106 81.9 79.9 69.6
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RAFE=IRE JTA 109 151.1
2 =35 JTA 289 118.1
FHE=%A1E JAL/JTA 121 76.0
FH=E%H JAL/JTA 40 51.7
PH=AXE JAL 0 0.0
BEE=rA1iE JTA 39 103.8
=% JTA 22 235.4
mE=FHi JTA 1 9.7
RE==4 JTA 0 0.0
RER=3E JTA 181 101.3
&1L =3REH JTA 20 70.7
INE=BRER JTA 4 113.9
BHE=5H RAC/JAC 1 120.6
R ERET 826 99.4
RHE=E0 JTA/RAC 516 91.2
RHE=FA1iE JTA/RAC 426 84.9
BHE=AXE JTA/RAC 109 87.1
BHE=FAE RAC 24 111.0
MB\=ALKE RAC 10 132.4
BHE=5WE RAC 20 104.1
EE=%EM RAC 26 96.2
ERE=IXE RAC 8 122.9
AlE=515E RAC 35 107.7
Eh =418 RAC 22 101.1
RNARET 1,197 90.0
FEHIRRAR & 5t 2,023 93.6
T EHRR RS 5T 0 -
e = 2,023 93.6
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